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NadWSALFnA1FI104 pstree AmualdynaTsuaansSunldma fork() laifia error
1.1

| main() {

fork();
fork();
fork():
exit(0);
}

1.2

main() {
int i;
for (i=0;i<3;i++) {
int pid = fork();
if (pid == 0) exit(0;
1.3
main() A
int 1i;

for (1=0;i<3;1i++) {
int pid = fork(}):
if (pid != 0) exit(0;

a o o . Ao | o R [ - [V ¢
2.) DTLNONBUDIFFY wail() nLaand parent process LAz child process fimySenlsamat

o o . ' ax .
nalunItih parent process terminate riat w38 %&3 child process
. o 4= 5 A :
3) a9n%1naTadnauasn3kaa popen() lun1sas35zn39 process
4)) m3lFan pipe FRIUNIIROFILLLUFEINGG TEWIW parent process k& child process 1aB 4l
NT=UIBN5IUNTRE pipe Uas fork process at11ls Sszmaninld pipe lunsFamuuy 2
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5. Tunsl#am FIFO adgmiumifamatzuin process mwsnaiuladBnilatihe Wdow
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6.) M1389 signal 3:w319 process & W& LAlapATN1siathe IWundiatad & uss @uwad

Tdsunsudsznaudiadune

7.} afunuraTean1Iivue signal Tudimusslusunsunidsdodaluil S1nzdonaadialagg e
Tusunsuld3u signal viug
signal(SIGTERM, SIG_DFL);
signal(SIGUSR1, SIG_DFL);
signal(SIGHUB, SIG_IGN);
signal(SIGKILL, SIG_IGN);

8.) ssusaadondimvasiusunsy dmiulfilu signal handler function dwTutiudmwauaiah
process \#5u signal TERM (211 process 1a9) uaz 1ialasu signal USRY udasRunimanuas
Frininannums terminal (@1azuanidu 2 Farfdu wia WoAdwdon awnnvild 2 wihAfle)

9) 29uaRsiTn1srmua process 1l handler nvaasludia 8 launisld sigaction()

10.) Tun131% shared memory dm3unisaatioyassning process axddouandrsanmsiy

pipe v3a fifo ag9ls s9adiny

| = P ! A \
11.) asugavanaaslusunyy Folflunmaiaion message queue Wpldlunisiaarsszning

parent N child process
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$include <stdio.h>
#include <stdlib.h>
#include <unistd.h>

char table(3]([3];
void init table(void) ({
int i,3;

for (1=0;i<3;1++)
for (j=0;j<3;3++)

table(i]1[(j1=" ';:
}
void draw_table(void) ({
int i,73;
for (i=0;i<3;i++} {
for (j=0;3<3;j++) {
printf("[%c]", table[i][3]):
}
printf("\n"};
}
printf("----—=—=- \n");
}
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void take(char c¢) {

int X,vy;
while (1) {
printf(“"%c turn -> input y x : “, ¢});
scanf("%d %d", &x, &y);
if ((x<0 || x>2) || (y<0 || y>2)) {
printf ("out of range\n");
continue;
}
if (table[x][y] = ' ") {
printf("[%d,%d] = '%c', please choose again\n",
X,y,table[x](y]);
continue;
h
table[x][y] = <¢;
break;
}
}
void xturn() {
take('x"');
}
void oturn() {
take('o’);
}

void checkrow(char ¢) {
int i,3j;
for (i=0;1i<3;i++) {
int count = 0;
for (3=0;j<3;J++) {
if (table[i][j]==¢c)

count++;
}
if (count == 3) {
printf("%c win row=%d\n", c, 1);
exit(0);
}
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void checkcol(char c) {

int 1,73;
for (i=0;1i<3;i++) {
int count = 0;

for (j=0;3<3:j++) {
if (tableljlli]==C)

count++;
}
if (count == 3) {
printf("%c win col=%d\n", ¢, 1);
exit (0);
}
}
}
void checkcross(char c} {
if ((table[0][0] == c) &&
{(table[1][1] == c} &&
(table(2)12) == ¢c}) {
printf(“%c win cross backward\n", c):
exit(0):
}
if ((table[0][2] == C) &&
(table[1][1] == cC) &&
{table[21[0] == ¢)) {
printf("%c win cross forward\n", c});
exit(0);
}

}

void check() {
checkrow('x"');
checkcol('x");
checkcross('x'):
checkrow('c');
checkcel('oc');
checkcross{'o');

int main(void) {
init_table();

while(1l) A
draw_table(}; xturn(); check():
draw_table(): oturn(): check();
}
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